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. B9 UH A& I 555 W wEAHL 11% H A9
HUMI | A(E o8 I o%g HI 455 ° o d 39
foraen @Y s3gen B e ?

(a) 1% @ (b) 2% =14
(c) 6% BT (d) 9% =1
. Ufea forelt = 1 ¢ ¥l 0 qU F T 2| fFE
HIET, 1% ¥ a5 I8 FHE HET a5 H &2
w74 1 e fewm 2:
2t o (2t-3)
(a) = (b) .
o 2t-3
ey @ 52
AZXBVTCR .
(a) D (b) E,O
(c) Q. E (d) 0,Q

cAR QT e 4+ T = a1 k!, T T e
‘' e 'K e+ @, 9@ 30K2Q3I6TS
1 HA B

(a) 18 (b) 28
(c) 31 (d) 103

A p I WEA TW YHEK ® B 0<p< 1, d

Frefafaa § =9 @ T8 22

1
(a) P<E (b) p’>p’

() P<P (@ P>+

[ L
. IS g%V F] SHGA §l U 99 918, g% T

12 99 Wew W1 MY FT T B AR IHEA
AU g F 22

(a) 20 a9 (b) 22 =8

(c) 25 =4 (d) 27 =
. gfm & 9@ 1 9E, 3 & faa @ fa @
g, 390 | H9 wafud 82

(a) g (b) == e

(c) faar (d) ==

. 60 BHE H AW THE B g % faw Fwe

T oo T faske e weER E E
Heate — 15, e — 12, U — 12, e
A — 11, @aFE - 10

sitael #1 T § Wit B 81w @
foru, famaen o gm?
(a) 15°

(c) 90°

(b) 60°
(d) 180°

. Deepak sells an item for 555 and receives a profit

of 11%. What will be his profit or loss in case he
sells the item for ¥455?
(a) Profit of 1%

(c) Loss of 6%

(b) Loss 0of 2%
(d) Loss 0f 9%

. Rohit can complete a work in t hours. Due to some

reason, he stopped working after 1% hours.

Unfinished part of the work is:
2t (2t-3)
(a) 3 (b) p
(t—3) (2t-3)
2t @ 2t

. Find the missing terms : A, Z, X, B, V,T,C,R,

(a) PD
(c) QE

(b) E. O
(d) 0.Q

. If *Q’means ‘+’, ‘T’means *x", *T" means ‘-, and

‘K’ means “+, then the value of 30K2Q3J6T5 is :

(a) 18 (b) 28

(c) 31 (d) 103
. If p is a number such that 0 < p < 1, then which of
the following is true?

1
a) P<— (b) pP>p?
(a) = b) pP’>p
1
(c) P<A/P @ P>

. Today is Varun’s birthday. After one year, he will

be twice as old as he was 12 years ago. What is the
present age of Varun?

(b) 22 years
(d) 27 years

(a) 20 years
(c) 25 years

. Sumit’s grandfather’s brother is the father of

Hemant’s father. How is Sumit related to Hemant?
(a) Brother
(b) Cousin
(c) Father
(d) Uncle

. 60 Students were asked to choose their favourite

sport. Following are the options chosen:
Football — 15, Cricket — 12, Swimming — 12,
Basketball — 11, Athletics — 10.
The data is to be illustrated in a pie-chart. What
angle should be used for football?

(a) 15°




9.

10.

11.

12.

13.

14.

15.

Tw g T80 W X 1 H fEw, 50 T W
fosh @en 25 U9 % fos & w9 4w fwa g
Tl o W ol w1 UM 2 : 3 ;4 8150 U9
+ foai =1 gen 2:

(a) 60 (b) 120

(c) 150 (d) 180

a9 1979 H, frems fGaw Ae@r &1 79 T
o1 frefafed fFm o, 98 g4 36 K9 7
=Y

(a) 1990 (b) 1986

(c) 1985 (d) 1984

afg uF = = 319 780 e IA W 5 T W
@ o= #1 wA B W ®1 ARk stw oA w

ﬁﬁla@m.ﬁfwﬁwmgs‘rm
B R .

14 5
(a) 5 (b) 5
15 12
(c) 17 (d) 19

afs wk M= F 9™ 4, ‘GRASP' &1 ‘BM-
VNK' fer@n i 2, df os% ‘CRANE’ =1 fa

S
(a) XMVIZ (b) XMVIA
(c) FUDQH (d) HWFSJ

_qﬁtf:q_‘.a.rav.aﬁiage[v' ‘E@ﬁ'ﬁ‘m',"ﬁﬁ'ﬁ
‘e’ el ‘e i Taesl’ wEl S
%, 91 fram@ 32 H fHRgsT 39E e €7

(a) Tae=H1 (b) =St
(c) 9Ie=ahyl (d) =%0
,qfq Lt WW i+!' i+! .q].[ m ix!' i+! .qﬂ.

el - e xR AT+ R A 52 <4+
5 x 8 — 2 %1 W BN

(a) 624 (b) 24

(c) 36 (d) 51

T HEfEe AR I e | 30 fed o 2,
fore o faen & geat 40 fFeft s €, g e
Al R gt 20 FFeT, =eran 81 e ST
Tifedt I gt 40 el s 21 @ e ynfn
v famg @ farelt @ 22

(a) 25 Tt

(b) 40 faeft

(c) 20 T

(d) 10 faeft

)
)
)
)

9.

10.

1.

12.

13.

14.

15.

T180is stored in a box in the form of 1 rupee coins,
50 paise coins and 25 paise coins. The ratio of the
coins inthe boxis 2 : 3 : 4. The number of 50 paise

coins is :
(a) 60 (b) 120
(¢c) 150 (d) 180

In the yvear 1979, Christmas day was celebrated on
Tuesday. In which of the following years, it was
celebrated on the same day?

(a) 1990 (b) 1986

(c) 1985 (d) 1984
If 5 is subtracted from both, the numerator and the
denominator of a fraction, the value of a the

fraction becomes l If 2 is added to both, the
2

mumerator and the denominator, the value of the

fraction becomes E . The fraction is :
3

14 5
(a) 5 (b) Y

15 12
(c) 7 (d) 1o

If, in a certain code language, ‘GRASP’ is written
as ‘BMVNK’, then the word ‘CRANE’ will be
written as :

(a) XMVIZ (b) XMVIA

(¢) FUDQH (d) HWFSJ
If ‘book’ is called “watch’, “watch’is called ‘bag’,
‘bag’iscalled ‘dictionary’ and ‘dictionary’ is called
*window’, which is used to carry books?

(a) Window (b) Watch
(c) Dictionary (d) Bag
If “—" means ‘+°, “+’means ‘%", “~’ means ‘— and

*x” means ‘+, then the value of 52 +4+5x 8 -2
will be:

(a) 624 (b) 24

(c) 36 (d) 51
A cyclist goes 30 km to the North and then turning
to the East he goes 40 km. Again, he turns to his
right and goes 20 km. After this he turns to his right
and goes 40 km. How far is he from his starting
point?

(a) 25km

(b) 40 km

(c) 20km

(d) 10 km
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O



16.

17.

18.

19.

21.

22.

23.

24.

25.

33 WO T HA W, 20 BE fFHe e €, 25
Hedd qe 18 Aefaid Wen §; 15 fRee wd
e SHl Werd §, 12 Weaiel o drieie] werd
2, 10 forehe w ardfaie @od €1 4f g B
FH W FY UH W Hovd Wod g, a a e

TeH 9 BE # SE 6
(a) 2 (b) 4
(c) 7 (d) 8

BT UF A I WE SN FH TF O H
wedl €, “SuHT Wi, qren fua w1 wwHus i
2" 98 o, 39 A § fry yHR gmEt 22

(a) &ed (b) T

(c) = (d) ot
AfE 246 *2 = 6, 870 *3 = 11, W 735 *5 =l
HH %:

(a) 16 (b) 3

(c) 5 (d) 12
HeIdl N STE 0§

(a) FH F (b) d-faa® =

(c) a=_-foems & (d) &Rom &

. fawm =1 gfa:

(a) ==5HI — TE

(b) 3HWT — a1

(c) wfeam — faarE

(d) fovafaemea — faemef
foreyed = F1d SHiferg:
275,7Y7,14X9,23W11, 34V13,

(a) 27024 (b) 47U15

(c) 45U15 (d) 47V14
HA-H, g ¥ atua & 87?

(a) 122 (b) 326

(c) 224 (d) 337

‘x' %1 =AY 9A 9@ Hiee fSEe e
'97468v4', 8 § fawsa @i

(a) 2 (b) 3

(c) 4 (d) 5

S H@M A - 81 x 117 x 63 x 46, 3* § fauwr=y
2, 91 b = sifwdy OE

(a) 6 (b) 7

(c) 8 (d) 9

w9 fore g =i 7 9 fawfea e smn 2
SIS 3 Wred g Bl 11 S 100 % WiE A
AT $H WER FHT He HAfaq W@l 9 Hife)
(a) 14 (b) 12

(c) 15 (d) 18

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

In a class of 33 students, 20 play cricket, 25 play
football, and 18 play volleyball; 15 play both
cricket and football, 12 play football and volleyball,
and 10 play cricket and volleyball. If each student
plays at least one game, then the number of
students who play all three games is:
(a) 2 (b) 4
(c) 7 (d) 8
Pointing towards a person, Mohan said to a woman,
“his mother is the only daughter of your father”.
How is the woman related to that person?
(a) Sister (b) Daughter
(c) Mother (d) Wife
If246 *2 =6, 870 * 3 =11, then the value of 735
%515
(a) 16 (b) 3
(c) 5 (d) 12
Truth and falsity are attributes of :
(a) Propositions (b) Arguments
(c) Debates
Find the odd one out :
(a) Moon — Planets
(b) Sky —Stars
(c) Stadium —Players
(d) University — Students
Find out the missing term : 2Z5, 7Y7, 14X09,
23WI11,34V13, |

(d) Opinions

(a) 27024 (b) 47U15
(c) 45U15 (d) 47V14
Which one does not belong to the group?
(a) 122 (b) 326
(c) 224 (d) 337

Find the least value of ‘x” so that the number
*97468x4" is divisible by 8.

(a) 2 (b) 3

(c) 4 (d) 5
If the number A= 81 x 117 x 63 x 46 is divisible
by 3%, then the maximum value of b is :

(a) 6 (b) 7

(c) 8 (d) 9
When a number is divisible by 7, it gives 3 as
remainder. Find the total possible numbers of such
type lying between 11 and 100.

(a) 14 (b) 12

(¢c) 15 (d) 18

0
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26.

27.

29.

30.

Trafafad g ufai =1 g @ #1 g Fifag
R H= d FOUE 9w

3,4,9, 26, 69

5,6,a,b,c.d

(a) 91 (b) 95
(c) 157 (d) 160

afg CBA + CCA - ACD, 5@ A, B, C 3R D
fafo=t siF & IRD = 0 &, A A 1 °H € :
(a) 0 (b) 4
(c) 5 d 9

. 39 TF Wl JaUF % ®9 °, Tk HeAd] J9gah

i, foas aRyeE SISt ded § g9 €,

1 TR o ® &l af% s weft o fom

g ¥, @ am FrAfoafaa fawedt § @ frmm
A H1?

(a) H U B HHd W FH W @

(b) § =8 seed = foa &1 A W @,
e foraom =1 F=0 % fou =2, forms
fou o8 Weg HIvTel 1 AEvIHA Bl
2l

(c) T 38 3TH HaR HIE GURA IR GA:
qE o & forw wRml

(d) T =9 =W W = wm

< M T A H W YHF BlEl TS H1 S

w2 T ufendt gt | aft 9t 9en 8l

Hen | 9 T 91 8, a1 & §ens #1 S g9a

1 82

(a) 2:1 (b) 3:1

(c) 3:2 (d) STEd WY FHE Tl

H9 UF FHUA AR IUH 9K & YA SFEROmE I

I G ¥ fola #ife B o @

HFUTOM/ SR F4 § sfarited & ()|
C2 BN

foraer o el forteie %1 W § waad ®
fou wyafos fage@l o a=a1 1 999 9o
JEH

qd e

L. TR 9N H ged fauerd #1 e s
Gl

I =8 YW 9§ dfgd o=4 3 foemeal o

oyl
(a) o 1 sfifed 21
(b) wae I sFfafifea 21
(c) 1 Ud II S afafifea &
(d) 1 ud II <Hi & sfafifea =21 8

26.

27:

28.

29.

30.

Solve the following two lines number series and
find the value of number d:

3.4,9, 26, 69

5,6,a,b,c.d
(a) 91 (b) 95
(c) 157 (d) 160

If CBA+ CCA=ACD, where A, B, C and D stand
for distinct digits and D = 0, then the value of A
is:

(a) 0

(c) 5

(b) 4

(d) 9

You as a recruitment manager, are interviewing
Mayank, a hardworking young man, who has
problem in speaking fluent English. Among the
following options, what would you choose to do,
if your company has vacancies?

(a) Iwould hire him at all costs.

(b) I would hire him for production or finance
job but not for marketing job, which requires
good communication skill.

(c) I would ask him to improve his
communication skill and come back again.

(d) Iwould not hire him.

From each of the two given numbers. half of the
smaller number is subtracted. Of the resulting
numbers, if the larger one is three times large as
the smaller one, what is the ratio of two numbers?

(a) 2:1

(b) 3:1

(c) 3:2

(d) None of the above

Below is given a statement followed by two
assumptions I & II. Decide which of the following
assumptions is/are implicit in the statement.
Statement : Provide mid-day meals to the children
in primary schools to increase the number of
students attending school.
Assumpftions :

I. Mid-day meals will attract the children to

school.

II. Those children who are otherwise deprived

of good food will attend the schools.
Only I is implicit.

Only 1II is implicit.

Both I & IT are implicit.

Neither I nor II are implicit.

G
O



31, freafafes ofae, & w&H o fafa= o o

31. The following table shows the average monthly
house-hold expenditure on different items for a

b @+ (TH)
e 4500
ot 1800
foren 650
3= 2400

month:
Items Expenditure (in 3)
Food 4500
Rent 1800
Education 650
Others 2400

a gve | feEd w1 WM e
(a) 48.13% (b) 6.95%
(c) 19.25% (d) 25.67%
32. 9N W AFE H ° 9% T giu & frefarad
I 1 FH S T

v

7

4

%

To represent the data by percentage bar diagram,
the portion for rent in the bar would be :
(a) 48.13% (b) 6.95%
(c) 19.25% (d) 25.67%
32. From the four answer figures, choose the one which

will continue the following figures:

Ylvav/ a7

7/

/7,

(c)

(b)

(d)

i
W

(a)

7

¥,

(c) ///

(b)

7
W

(d)

33. freAfafea SFeE & NUR W aq@ fo e

33. Onthe basis ofthe following information, tell how
many girls are tall?

il et ¥2 _ Height
Children - Total
=3 R Medium | Short Tall
; et
A B T Boys _ _ 20 _
[GEED - - 20 = Girls N A - 64
aerF | - - - 64 Total = 60 - -
Exgl = 60 = = m half the children are either tall or short.

m 3 ged A A T § A SR E
IWWW@@W%I
» % fRE @es 3iem %% & 2
(a) 0 (b) 10 (c) 20
(d) s 7= e s |

34. 9= f&u U gvE H@ ® FHR W gaed fE
1960 ¥ 1990 @ Teve forueyl =1 W o fovae

gfeerd =1 gfs g7
30,000 + S6iti 30.009
25.000 T ]
'gzo.ooo .
15,000
fFF 15,000 + :
Em.ooo - i
5’0001‘ 2,500
| =
1960 1970 1980 1990 2000
-

m forty percent of the children are girls.
m one third of the boys are of medium height.
(a) 0
(b) 10
(c) 20
(d) cannot be determined

34. On the basis of following bar-diagram, tell, what
is the percentage increase in the number of movie
theatres from 1960 to 19907

30,000
30,000 50
5 26,000
£25.0007
20,0001
3 15,000
815,000t
é 10,000 6.000
g :
2 50001 5500
L
1960 1970 1980 1990 2000
Years

¢
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35.

36.

37,

38.

39.

40.

(a) (b) 120%

(c) 940% (d) 1300%
frefefan <ve sror fA a9 ® gEE @R
foell #1 SHEEN (g9R W) 9 21 Hew &
3 wEEn o e w1 gfdve g9 2

12%

(55)

12500 (54)
8 400

g fewett

Iz TEaE H 90% TEW WeR & @it feef § 80%
ufedrd | B, @ g 0 e geel a1 wen
iy feeeft o frem wfgensti =1 gen %1 fiwean

I BIM:
(a) 0.89 (b) 0.32
(c) 1.73 (d) 0.61

= T T wAaEE (98 (?) ® W WA
ST ?

LOM :NMK :: PKI:?

(a) RIH (b) SHG

(c) RIG (d) RHG

sfSht auinren § <@ § Tohige SiaR AN 9 °
Hiefgdl HeR & dtg 0 i W1 & 87

(a) J (b) K

(c) L (d) O

% ‘IMPERISHABLE' ¥ 7&@i & UH fhad
g & form s WE # 9 sy % dg s
e € Toe for aoforen o oI s+ %8 o €2
(a) 0 (b) 1

() 2 (d) 3

T Fe o H, freEfafan genst w1 A=
T et % | Hied T T g
"wem | 1| 2|3]4|5]6|7]8]09
wdem: |@ [ # | S |%]|~ & *]|~]+
FHZ W H ‘&%S' R+ 4% F AW E:
(@ "+ @ (b) @~+*

() &@*$ (d) ~~%#

a9 1988 H Taaan faa® FHER 1 7@ ™ Al
4 1989 H =% fF® T wamn o en?

(a) HHAR (b) HIEER

(c) Fefdanr (d) 3FEr

35.

36.

3.

38.

39.

40.

(a) 12% (b) 120%

(c) 940% (d) 1300%
The following Bar diagram shows the population
of Mumbai and Delhi (in thousands) in a certain
year. Number within brackets denote % of males
in the given population.

(55)
12 500 (54)
8 400
Mumbai Delhi

If 90% of males in Mumbai are literate and if 80%
of females in Delhi are literate, then ratio of
number of illiterate males in Mumbai to number
of illiterate females in Delhi is close to:

(a) 0.89 (b) 0.32

(c) L73 (d) 0.61
What will appear in place of question mark (?)
shown below ? LOM : NMK :: PKI : ?

(a) RIH (b) SHG

(c) RIG (d) RHG

Which letter is midway between the 21 letter from
the right and the 16% letter from the left in the
English alphabet?

(a) J (b) K

(c) L (d) O
How many pairs of letters does the word
‘IMPERISHABLE" contain such that the two
letters of a pair have as many letters between them
in the word as in the alphabet and in the same

order?
(a) 0 (b) 1
(c) 2 (d) 3

In a code language, the following numbers are
coded with the symbols given below:
Numbers: [1 |2 [3 |4 |5 (6|7 |8 |9
Symbols: |@|# [S [%|" |&|* |~ |+
Then the sum of *& % $” and *+ " #’ in the code
language is :

@) "+ @ b @"+"

(c) &@*$ (d) ~*%#

The independence day was celebrated on

Wednesday in the year 1988. On which day it was
celebrated in the year 19897
(a) Monday (b) Tuesday

(c) Thursday (d) Friday

&)
U



41. =z fHe M= =2 § 'BAKE’ %1 5796 forad
& @91 ‘'FIRE’ =1 3146 forad €, o 34 =2 o
‘FEAR’ %1 ¥ y&r fo@m?

(a) 3564 (b) 3574

(d) 3674

(c) 3649

afs BET HT FA @A 3000 B, A YT A A
W B ¥ foarme s 1 g 7

(a) 840 (b) 960

(c) 720 (d) 880

43. 4% 256 F1 FHZ T ‘you are good’ ®, 637 1

HZ T ‘we are bad’ €, T 358 T 2 I
‘good and bad’ ¥, i ‘and’ 1 e =W T:

(a) 6 (b) 2

(c) 8 (d) 7

< | e HI
(a) 8 (b) 9
(c) 10 (d) 13

45. 9§ g€ o=l #1 wed gu wW H oHafeyd

41. In a certain code ‘BAKE’ is written as 5796 and
‘FIRE’ is written as 3146. How is ‘FEAR’ written
in that code?

(a) 3564
(c) 3649

(b) 3574
(d) 3674

If the total number of students is 3000, then the
number of students in section A and B together is:

(a) 840

(b) 960

(c) 720

(d) 880
43. Tf 256 is coded as ‘you are good’, 637 is coded as

‘we are bad” and 358 is coded as ‘good and bad’,
then the code of ‘and’ is:

(a) 6 (b) 2
(c) 8 (d) 7
44. Find out the missing number :

(a) 8 (b) 9
(c) 10 (d) 13
45. Arrange the following fractions in descending

order:

2431

37582

w E2LA oy 252 1
5328 3582

o 2r32 iy 2321
5283 5832




46. Trefofaa o @ 18r 2 -

B|l|G|L
C|H|M
G| L|?
(a) R (by O
(c) P (d) Q

47. % e, forsR B 1 2 % oI W B, ®
T T I B
@ 1:2 (b) 1 :8
€ 1:4 d2:7

48. frefafEd v y=& 5 § 99 fd & vR 9
YU ¥ A1 U 9HE 9 &1 HA 91 U, 3

TIE 1 95 T 7?2
(a) fe (b) =T
(c) TEg (d) o

49. ¥4 feu U v w1 w1 fafy= feafa 1 e
FHIAT 3R FarEy fF 4 % faudia FomF W HE-9
e FE?

(i) (ii) (i) (iv)
(a) 3 (b) 5
(c) 1 (d) 6
50. freAfafaa =fiwe @ a7 A, B 991 C & _fou
e T wfaeyl wdgw % wfom 2

AB|C|IC|A|B|A|B|C|C|A|B|C|A|C

AICIA|B|C|A|B|C|C|C|C|A|C|C|C

Tq gfoeyl § o B § TEg AaFel H i
2
(a) 30% (b) 20%
(©) 50% (d) 40%
51. ¥ fed & fomr o =l 1 wem feadt 22

(b) 17
(d) =79 | =12 7

46. The missing letter in the following is:

B|G|L
C|H|M

G|L|?

(a) R (b) O
(c) P (d Q

47. The ratio of volumes of two spheres, whose radii
are in the ratio 1 : 2, is :
(@ 1:2 (b) 1:8
(c) 1:4 (d) 2:7
48. Three of the following four words are alike in a
certain way and form a group. Which one does not
belong to this group?
(a) Dear (b) Horse
(c) Jackal (d) Giraffe
49, Study the different positions of a cube as given
below. Which number will occur on the face
opposite to 4?

B

(i) (ii) (iii) (iv)
(a) 3 (b) 5
() 1 (d) 6
50. The following data gives the results of a sample
survey of three categories A, B and C :

AB|C|IC/IA[B|A|B|C|C|A|B|C|A|C

AlCIA|B|C|A[B|C|C|C|C|A|C|C|C

The percentage of elements in this sample
belonging to the category B is :
(a) 30% (b) 20%
(c) 50% (d) 40%
51. What is the number of squares in the following
figure?

(d) None of these

6)
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52.

53.

54.

56.

T TSH 9 F HEE H THel S §Y U HEH

AT SR €, W SE & HeH 1Y H AR @ g8

gl 9% o e HY UgY Ul €7

(a) B THT

(b) @rEfFA g

(c) ™R = 3 g FW gL JoH W

(d) THa 1 3K §g & 901 W

49 U MU W FUA F1 dfeu R FaEy fE

A SfHfe 1 AeEA T8 W

(1) wea iR giea sifas) aon st = e
=R R

(2) Wred R e @A faam aon st &

e F R B

(3) YoM iR dea st qen St #51 seee
R 2

(4) T IR UeE WEA faam qon st w5
AT F R B

(a) HE (b) HEA

(c) TeA (d) T

g + fam’, - fewer 2 x En, el 2 -
‘m%',>‘w'ﬁm~<‘€!€ﬁ’%9ﬁ%ﬁﬁ,ﬁ
frefafiad foremedl § 9 9 @ 4 872

(a) 5 x2<1-3<4x1
(b) 5>2%x1-3>4<1
(c) 5<2x1-3=4x1
(d) 5+2x1=3+42>1

. I1d GEHi & UH 99 U U9, TH H g1 A

TR ¥ B ¥, W wed w@gr 9E € vIm, 3
Y B T %, W wey sie =@ ¥ Hed, faew
fed WX @S ¥ B § 91 9 Ahl @ a9
2,7 ¥ 99 UF oed AW w3 F AR o
HTE Yo 3T TEl &1 3T T A<H § § gad
oS A €2

(a) ¥3MH (b) TH

(c) T (d) faa=

7z w= favm o o ‘REMOTE' & ‘ROTEME'
g %2 T o %, @ fF9 o= =1 ‘PNIICC’
| Fe fFa sEm?

(a) NPIICC

(b) PICCIN

(c) PICNIC

(d) PINCIC

52.

53

54.

53.

56.

A boy in rainy season while going to school takes
one step forward but he has to take two steps
backward. How can he reach the school?

(a) By using an umbrella

(b) By means of a cycle

(c) By facing home and walking

(d) By facing the school and walking

Read the following four statements and then
answer who is not studying Geometry:
1. Mohan and Sohan are studying Physics and

English.
2. Sohan and Rohan are studying Chemistry
and English.
3. Roshan and Mohan are studying Geometry
and Physics.
4. Rohan and Roshan are studying Chemistry
and Geometry.
(a) Mohan (b) Sohan
(c) Rohan (d) Roshan

If + stands for *division’, — stands for ‘equal to’,
% stands for ‘addition’, + stands for ‘greater than’,
= stands for ‘less than’, > stands for ‘multiplication
and < stands for ‘subtraction’, then which of the
following alternatives is correct ?

(a) Sx2<1-3<4x1

(b) 5>2x1-3>4<1

(c)5<2x Ib=+3=>4 %1

(d) 5372x1=3+4>1
Ina group of seven boys, Ram is elder than Shyam
but younger than Manohar who is not the eldest
boy. Shyam is not as young as Prem who is not the
youngest. Mohan is younger than four boys
including Vivek and elder than the other boys. No
information is available about the age of remaining
boy Dinesh. Who is the oldest boy among these
seven boys?

(a) Shyam

(b) Ram

(c) Dinesh

(d) Vivek
If in a certain language ‘REMOTE’ is coded as
*‘ROTEME’, which word would be coded as
‘PNIICC’ ?

(a) NPIICC

(b) PICCIN

(¢c) PICNIC

(d) PINCIC
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57

58

59

60

61

62

63

64

. @ " (?) Fm H
5 19 3
4

(a) 25 (b) 37

(c) 41 (d) 47
. Tl wen o w99 2 AR 4 B T W W
20 € A 3 99 @l ® S § wfE A 3
B YIE 99 W A3 € d1 3 B @ W@ W
21 wen § BEl H G 2

(a) 36 (b) 48

(c) 52 (d) 56
. A9 B et @ &1 % 15 9 10 fi § @@
Y Gl &1 T T W T R IR fR,
fr 3 fedl & 9R, A 7 FH Big fRaml 9w &
# B 7 W Al B 7 @ fea f7 =dd
foham?

4
A
5

(a) 8 (b) 5
(c) 3 (d) 2
. 3 29 ufa 2, gfafes = fewma 9 30 &A1 o o
2% 540 =T HEE BE?
(a) 6 (b) 5
(c) 4 (d) 3
. WYY TINE WiHidw HEnel w1 HOR 4T €
(a) 5 (b) 5.5
(c) 8 (d) 6
A% 38 + 15 = 66 3 29 + 36 = 99 &, & 82
+44 =7
(a) 77 (b) 88
(c) 80 (d) 94

. Frefafas sl =1 s wewe § HiE-91 %Y

(i) Telegraph (i) Telephone
(iii) Teleprinter (iv) Telemark
(v) Telepathy
(a) (1), (id), (iid), (iv), (v)
(b) (v), (v), (iid), (ii), (1)
(c) (1), (iv), (v), (i), (iii)
(d) (id), (iii), (iv), (v), (1)
. 36 9. ufmrg 1 feRa oad @i S Hehdl
&, afz qond e quife & ° 2
(a) 8 (b) 9
(c) 10 (d) 11

57. Find the missing number (?).
19N 6/ 20\
4 5
(a) 25 (b) 37
(c) 41 (d) 47
58. There are some benches in a class room. If 4
students sit on each bench, then 3 benches are left
unoccupied. However, if 3 students sit on each
bench, 3 students left standing. Number of students
in the class is:
(a) 36 (b) 48
(c) 52 (d) 56
59. Aand Bcandosome work in 15 days and 10 days,
respectively. They began the work together but A,
after working 3 days, leaves the work and B
finishes the remaining work. For how many days
B worked alone?
(a) 8 (b) 5
(c) 3 (d) 2
60. How many trucks will carry 540 tons in 30 days,
if each truck carries 3 tons per day ?
(a) 6 (b) 5
(c) 4 (d) 3
61. Thearithmetic mean of first eleven natural numbers
is:
(a) 5 (b) 5.5
(c) 8 (d) 6
62. If38 + 15=066 and 29 + 36 =99, then 82 + 44 =?
(a) 77 (b) 88
(c) 80 (d) 94
63. Which of the following represents the sequence in
which the following words occur in the English
dictionary?
(i) Telegraph (i) Telephone
(iii) Teleprinter (iv) Telemark
(v) Telepathy
(a) (i), (ib), (iid), (iv), (v)
(b) (v), (iv), (ii1), (ii), (1)
(c) (1), (iv), (v), (i), (iii)

(d) (i), (i), (iv), (v), ()
64. How many rectangles of 36 cm perimeter can be
drawn, given that sides are positive integers in cm?
(a) 8 (b) 9
(c) 10 (d) 11
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65. T SIRHI <01 T TE U FE Wl Bl 9 TEd

135° wEt =1 fagde Ko § @i 5 180° ut =

feon o guar @1 o st U Ry fin o €2
(a) ST-d (b) IT-ar¥=H

(c) =fe-qa (d) =feror-afTem

66.

TH 6 T w916 99 & G s &1 0 fea

T R TES 9% 29 | HHl HR A A ° He
fe w21 R w wE R o = o o

T & B2
(a) 8
(c) 16

(b) 64
(d) 24
67.

67.
TF HU IR 38 7 = 1 we 10w ™ 2

fvfa Fifs o = @ freed f&F T Fom

e &Y ST H B

YA ¢ qTF GEIGL H WY I 2

frewd —

I 9%eal % fou sifam sed 2l

IL %™ 7 4 el %% a7 W4 &

(a) %od I (b) Fod 1I

(c) I wd II gFI
68.

iCEIRCT

CIDETY
IO TS
e e o

@ TE-aTeTE § STEERT T HI0 B
(a) 118.8° (b) 120°
(c) 117.6° (d) 126°
69. freAfafEad @ ¥ qw e 91 S :
1,1,3,9,6,36, 10, 100, 225
(a) 15 (b) 16
(c) 20 (d) 25

70. &= f5u ™ wEifEa o= % fou fefafaa 9 9

F W w82

Xx+ty=4

(b) x=0,y>x
(d) x>0,y>x

(d) BFEi ° H HE TE
ofg foredt 391 & 9o +1 99 YR | g9 59

69.

65.

A man is facing South. He turns 135° in the anti-
clockwise direction and then 180° in the clockwise
direction. Which direction is he facing now?

(a) North-East (b) North-West

(c) South-East (d) South-West

. A cube of edge 6 cm is painted on all faces of it.

It is then cut into cubes of edge 1 em. How many
cubes have no face painted?

(a) 8 (b) 64

(c) 16 (d) 24
A statement is given followed by two conclusions
I & II. Decide which of the given conclusions
follows logically from the given statement:
Statement : Fortune favours the brave.
Conclusions :

I. Risks are necessary for success.

II. Cowards die many times before their death.

(a) OnlyI (b) Only II

(c) BothIandII (d) NeitherI nor II

. If the budget of a country is presented as follows:
i Sales Tax
tax
18%
Excise and
Custom duty Miscellaneous
Then the angle for income tax on a pie-chart is:
(a) 118.8° (b) 120°
(c) 117.6° (d) 126°
Find the missing term in the following series :
1,1,3,9,6,36, 10,100, 225
(a) 15 (b) 16
(c) 20 (d) 25
. For the shaded region, given below,
y=X
Xt+ty=4
(0, 0)
Which of the following is correct?
(a) x>0,y<x (b) x=0,y>x
(c) x>0, y>x (d) x>0, y>x
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71

72

73.

74.

75.

76.

T

78.

. Afg 9X=3%,a°f - T A B:
2 3
(a) 3 (b) 3
(c) 1 (d) 0

. gE B 9 C, fd ded w'm A 9 Fh:
15% @1 32% 4 &l §en B § "ew C fFa
gfew@ &1 87

(a) 23.5%
(c) 20%

(b) 22%
(d) 18%

4= & T uE gemet ¥ 9 =R R v 9
FTEY & A9 TF T 9 21 HH G 0F, 39
oye o e 87

22, 26, 34, 46, 72

(@) 22 (b) 34

(c) 72 (d) 378 | FE T

freAfafad o fFad IN 39 YR g ¢ g
YFR AE, DH § 9=fed §7?

(a) GK (b) PR

(c) OU (d) MQ

13

[(_0.000064)1 EaR: E i

(a) 0.02 (b) 0.2

(¢) 0.002 (d) 399 9 iz T
TRl =1 &1 ST V 2| 39% SR %1 He o
2

(a) 8V (b) 12V

1 1
(c) 8V3 d 12 V3

g (x+y+2p+3q) (x—y—2p+3q) = (x
. X
—y+2p-3q) (x+y—-2p—3q), @ ;=?

P 9
(a) q (b) P
2q 3p
(c) 3q (d) 3q

o o oHEitEa &9 frefa w3 e
A B

(a) AUBUC
(c) ANBNQO)

(by ALBNC)
(d ANBUC)

71.

72.

73.

74.

76.

77.

78.

9
If 9x =§; , then the value of x is:

2 3
(a) 3 (b) S
(c) 1 (d) 0

Two numbers B and C are respectively, 15% and
32% less than a third number A. By what
percentage is the number C less than the number
B?

(a) 23.5% (b) 22%

(c) 20% (d) 18%
Four of the following five numbers are alike in a
certain way and so form a group. Which one does
not belong to that group?
22,26, 34, 46,72

(a) 22 (b) 34
(c) 72 (d) None of these
JN is related to which of the following in the same
way as AE is related to DH ?
(a) GK (b) PR
(c) OU (d) MQ
i
. The value of [(0.000064)% ]3 is:
(a) 0.02 (b) 0.2
(c) 0.002 (d) None of these
The volume of a cube is V. The total length of its
edges is :
(@) 8V (b) 124V
1 1
(c) 8V3 () 12V3

If(x+y+2p+3q) (x—y—2p+3q)=(x—y+2p

X
—3q) (x+vy—2p—3q), then ; =7

P o
@ o )
2p 3p
(c) i (d) E
In the figure,
A B

the shaded region represents :
(a) AuBuC (b) Au(BnC)
(c) An(Bn Q) (d An(Bu(Q)

£
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79. 130 . @ 110 . @& < {@mied uw g
fewm o W @RI A W TH el el gud
TAmEY #1 1 e W ur w5 ot 21 afg 9 fagda
fegn § wnd o wH gE w3 Wwe °H UL HE

(a) 4 /4. (b) 3 H./4.
(c) 2 #./A4. (d) 1 /4.

80. 10% @it =wgfe =ms #1 < § fFad auf o,

1,000, %1 331 B SmEm?
(a) 2
(c) 3

(b) 2.5
(d) 3.5
Passage for Comprehension:

Read the following passage carefully and answer
the questions (from 81 to 83) given below : Self-directed
learning, in its broadest meaning, describes a process in
which individuals take the initiative with or without the
help of others, in diagnosing their learning needs,
formulation of learning goals, identifying resources for
learning, choosing and implementing learning strategies
and evaluating learning outcomes. Thus, it is important
to attain new knowledge easily and skillfully for the rest
of his or her life.

What is the need for self-directed learning ? One
reason is that there is convincing evidence that people,
who take the initiative in learning, learn more things and
learn better than people waiting to be taught. The second
reason is that self-directed learning is more in tune with
our natural process of psychological development; an
essential aspect of maturing is developing the ability to
take increasing responsibility of our own lives to become
increasingly self-directed. The third reason is that many
of the new developments in education put a heavy
responsibility on the learners to take a good deal of
initiative in their own learning. To meet the challenge of
today’s instructive environment, self-directed learning
is most essential.

81. Which word best describes self-directed learning?
(a) Active learning
(b) Passive learning
(c) Compulsory learning
(d) Repulsive learning
82. The modern environment, according to the author,
is
{a) Restrictive
(b) Instructive
(c) Less developed
(d) Impracticable

79.

80.

83.

84.

85.

86.

87.

Two trains, 130 mand 110 m long are going in the
same direction. Faster train takes 1 minute to pass
the other completely. If they move in opposite
direction, they pass each other in 3 seconds.
Difference in the speeds of the trains is:

(a) 4 m/sec (b) 3 m/sec

(c) 2m/sec (d) 1 m/sec

At the rate of 10% compound interest per
annum, in how many years, 1,000 will become ¥
1,331?
(a) 2 (b) 2.5
(c) 3 (d) 3.5
There is a need for self-directed learning because
(a) Itis less challenging.

(b) Tthelps people to learn more things and learn
better.

(c) Itis a more cost-effective method.

(d) Itis less time - consuming.
Choose the correct word for the phrase :
"Government by one person”

(a) Plutocracy

(b) Oligarchy

(c) Autocracy

(d) Theocracy
Choose the correct passive form of the given
sentence from the choices given below : 'The
Romans expected to conquer Carthrage'.

(a) Carthrage expected Romans to conquer.

(b) The Romans are conquered Carthrage.

(c) It was expected by the Romans that they
would conquer Carthrage.

(d) It is expected to conquer Carthrage.
Choose the correct synonym of the word
'Competition'. Btws

(a) Fight

(b)

(c) Legal

(d)

‘What can be an appropriate meaning of the word
'Slumber'?

(a) Disease

Contest

Competence

(b) Action
(c) Sleep
(d) Deep
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qvq HEA 88 ¥ 100 T frefeiiEd e & SHR
WA B T YA F IW A
aufed wenyT
Y T 1 A9 U WiEpfas aied gl 8, o

T W 9% WG F 99 W IAER el @l €1 ’Ed g
T Y 9 S F1 AYF gEHg, I, mieE &
A=YV 9 FT TAH Fal @ ¢l 79 T F] AR
9 WEkfas Uil el €, S & o # favEd ® 9
o faerd @ IR 38 WAE % SoEEy e 39 A
FA Bl HD WO HA SR SR F1 U & 9 2
e 3! U | A ° e 3R gea o uiie gy
HEAIE w1 AW 2, 3 G 39 gEaei % Gomsy
U gE SgH YUt 1 AW gl HEA & A H e
arell foamRam +1 80 UEHfd #% %4 ¢ HEHa o=
o1 g4 & Tl § T U FT 9eEa F qodiEA e n
IHHT GEF F HER W H THI & YAF T H
Hepfa o8l &1 dmifes oRfefmE w A9 210 gl w5
TAg SfeF 1 yefad 9 § 99 Tewy €1y R ¢
88. el T2 # W F oAHT HI AR ©

(a) SHEEA

(b) wefd

(c) Hen

(d) "&Hfa
89. T wfrs way 872

(a) H&Ffa &iv a9f &

(b) W AR HWEHfa

(c) T W Fem H

(d) wFfa 3w sfem
90. HEHa = &7

(a) ST Sfad Tome

(b) SfeA = wf=aqul S 1 gAE

(c) WFE SfEd & H% WH 3@ g9

TS AW
(d) g@9g wd IEnt sieq ggfa

91. HHe oM geifed FE § e meayel w1g
T 72

(a) HEHfd =1 (b) el =
(c) wepfd =1 (d) |¥ar =1
92. ‘wiERfos’ veE H gd SRl
(a) for= (b) %
(c) ¥™ (d) |
93. ‘fawrma’ vk g goft =1 22
(a) wHH (b) A
(c) = (d) fassft
94, FHF-| I ‘W’ F qHEETE TR 22
(a) 3= (b) 193
(c) Ser (d) fayfa
95. ‘mHa’ =1 YATEETEl FaE)
(a) @Wed (b) T
(c) ot (d) Tere
96. ‘eI’ 1 v ©
(a) W&pfa (b) iR
(c) e gomed (d) S T Fen
97. ' geAiwd’ w1 HiH-fa=sg wifem)
(a) T + (b) oo + STHAF
(c) TS + FHA (d) ToF + A
98. ‘Hewayui’ #1 fawiared fafaw
(a) HewERfEd (b) TETEHA
(c) sAfaHe (d) TofHETaATRTAT

99, IYYeF TR 1 SUFHT VivF ¢
(a) T 3R GERfa AT

(b) WA SR A=

(c) HEpfas “Ue

(d) Tz frmfor

100. T o T2 g 90 W Wi & 99 T AT
g1 22
(a) WiHfaw FEoaT
(c) HiEpfas “et

(b) wrifersr feufa
(d) <frEaq Jorel 99T

@



